=N

SIGI0IE{ A

=,
Aoty

B 4% MU QUCA ZH(IELXIINL/ETR)

ool S0UX S=E 2AH ZA (Shoy: m2)
SA - R SA(BH) - HSA - BES Ol ko ol o HnS2
SICIOIE &b 1t 20,054,572 18,156,233 1,898,339

= 1,983,000 1,983,000 0

= 5,809,600 5,809,600 0

J| 2,160,000 1,100,000 1,060,000

= 10,101,972 9,263,633 838,339

ARt AHASY QAU Al M (SELRS L /=XHA) 10,123,212 8,271,673 1,851,539

= 1,983,000 1,983,000 0

= 2,000,000 2,000,000 0

J| 2,160,000 1,100,000 1,060,000

& 3,980,212 3,188,673 791,539

=8UUHX 858 SHAH =4 10,123,212 8,271,673 1,851,539

= 1,983,000 1,983,000 0

s 2,000,000 2,000,000 0

J| 2,160,000 1,100,000 1,060,000

= 3,980,212 3,188,673 791,539

ADLE OIOIEAIEl =4 3,372 6,500 A3,128

201 B2 AY| 372 3,500 23,128

01 A22teld| 372 3,500 A3,128

OXEZIt Xz232 24 372 3,500 A3,128

2cRE HoleHdH B = 26,000 98,000 A72,000

207 AN 0 72,000 A72,000

01 H1=49H| 0 72,000 A72,000

OHOIEI MY SE%e| BB 0 72,000 AT72,000

Halolg YOI AblA E3E 2=E(21) 3,760,000 1,833,333 1,926,667

J| 2,160,000 1,100,000 1,060,000

= 1,600,000 733,333 866,667

207 AN Y| 3,760,000 1,833,333 1,926,667

J| 2,160,000 1,100,000 1,060,000

= 1,600,000 733,333 866,667

02 ™ADNEY| 3,760,000 1,833,333 1,926,667

O&FYolz 8l00IH MEIA EHE 25 3,760,000 1,833,333 1,926,667

J| 2,160,000 1,100,000 1,060,000

< 1,600,000 733,333 866,667

SIHIOIE &Y SM(LEESSHE/LBIEEN) 901,000 931,000 230,000

IOIe =& SHEAMHIA Sl 901,000 931,000 A30,000

2101 24AE =& 51,000 81,000 A30,000

201 LBt Y| 50,000 80,000 230,000

01 AfR22t2lt| 50,000 80,000 230,000

QYdIoIH 24 &84 &Y 47,000 77,000 230,000

ICTESE MY SH(MY - SAIIGLHHXI/AHEE 9,007,200 8,930,400 76,800
-1y

s 3,809,600 3,809,600 0

& 5,197,600 5,120,800 76,800
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SM: CI0IE A
M |(TB=E A

o¢elr ICT8E =&
S - BE . SRI(SIH) - NISA - BES 0l o ol & o
ICTE&& =& 9,007,200 8,930,400
s 3,809,600 3,809,600
= 5,197,600 5,120,800
SWAHIA ALSH K12 AP (SR EARY) 192,000 115,200
308 AtXIHMISOIH 192,000 115,200
11 B2 SOICHEHE A X 2IEFAIS I 192,000 115,200
OXIS SN HED1 A3 XI& 76,800 0
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